CITY OF EL PASO, TEXAS AGENDA ITEM DEPARTMENT HEAD'S SUMMARY FORM

DEPARTMENT:

Streets and Maintenance

AGENDA DATE:

April 3, 2018

CONTACT PERSON/PHONE:

Richard J. Bristol, Street and Maintenance Director, 915-212-7000

Bruce D. Collins, Purchasing Director, 915-212-1181

DISTRICT(S) AFFECTED:

All

STRATEGIC GOAL: NO. #: 7) Enhance and Sustain El Paso's Infrastructure Network

SUBJECT:

Discussion and action on the award of Solicitation No. 2018-1095 Barricade Rental Service to Contractor's Barricade Service, Inc. dba Apache Barricade & Sign for an initial term estimated award of \$783,268.50. The award is to include a two (2) year optional amount of \$522,179.00 for a total five (5) year award of \$1,305,447.50.

BACKGROUND / DISCUSSION:

The City currently performs maintenance activities on City and State Right of Way that requires traffic control to guarantee employee and public safety. The services provided by Contractor's Barricade Service, Inc. dba Apache Barricade & Sign will ensure the City has safe and adequate traffic control. Furthermore, all departments Citywide can utilize this contract to obtain assistance in planning and implementing traffic control and street closures for any city-sponsored event as well for any emergent situations.

SELECTION SUMMARY:

Solicitation was advertised on February 13, 2018 and February 20, 2018. The solicitation was posted on the City's website on February 13, 2018. The email (Purmail) notification was sent out on February 15, 2018. Total of eight (8) bidders were solicited; three (3) being local vendors. Total views on the website were twenty-six (26). One (1) bid was received; being a local vendor. An inadequate competition survey was conducted.

CONTRACT VARIANCE PREVIOUS CONTRACT:

Previous contract was awarded in 2014. The difference in cost, based on the comparison to the annual usage from the previous contract, is as follows:

Group A: The average cost increased by \$1.03 resulting in an increase of \$2,468.00.

Group B: The average cost decreased by (\$38.35) yet, nine (9) items were added to this group for holidays and specials events resulting in an increase of \$8,699.25.

Group C: The average cost increased by \$157.12 resulting in an increase of \$187,468.50. Seven (7) items were added to this group and usages were increased for holidays and special events.

Group D: Is a new addition to the contract for holidays and special events, no prior contract available.

PROTEST
No protest received for this requirement.
COUNCIL REPRESENTATIVE BRIEFING:
Was a briefing provided? Tyes or No If yes, select the applicable districts.
District 1 District 2 District 3 District 4 District 5 District 6 District 7 District 8 All Districts
PRIOR COUNCIL ACTION:
2014-086 approved by City Council on January 14, 2014. Extension approved by City Council on May 31, 2016.
AMOUNT AND SOURCE OF FUNDING:
General Fund – Leases NOC 1000-532-32120-P3210-524110
BOARD / COMMISSION ACTION:
N/A

DEPARTMENT HEAD:

COUNCIL PROJECT FORM (LOW BID)

Please place the following item on the **REGULAR** agenda for the Council Meeting of **APRIL 3, 2018**.

STRATEGIC GOAL: NO.7 Enhance and Sustain El Paso's Infrastructure Network

Discussion and action on the award of Solicitation No. 2018-1095 Barricade Rental Service to Contractor's Barricade Service, Inc. dba Apache Barricade & Sign for an initial term estimated award of \$783,268.50. The award is to include a two (2) year optional amount of \$522,179.00 for a total five (5) year award of \$1,305,447.50. This service will ensure the City has safe and adequate traffic control.

CONTRACT VARIANCE:

Previous contract was awarded in 2014. The difference in cost, based on the comparison to the annual usage from the previous contract, is as follows:

Group A: The average cost increased by \$1.03 resulting in an increase of \$2,468.00.

Group B: The average cost decreased by (\$38.35) yet, nine (9) items were added to this group for holidays and specials events resulting in an increase of \$8,699.25.

Group C: The average cost increased by \$157.12 resulting in an increase of \$187,468.50. Seven (7) items were added to this group and usages were increased for holidays and special events.

Group D: Is a new addition to the contract for holidays and special events, no prior contract available.

Department: Street and Maintenance

Award to: Contractor's Barricade Service, Inc. dba Apache Barricade & Sign

El Paso, TX

Item(s):

Initial Term: 3 years
Option to Extend: 2 years
Annual Estimated Award: \$261,089.50

Initial Term Estimated Award: \$783,268.50 (3 years)
Total Estimated Award: \$1,305,447.50 (5 years)

Account No.: 532 – 32120 - 524110 – 1000 – P3210

Funding Source: General Fund – Leases NOC

Funding Source: General Fund – Leas District(s): All

- 10 (0).

This is a Low Bid, services contract.

The Purchasing & Strategic Sourcing Department and Street and Maintenance Department recommend award as indicated to Contractor's Barricade Service, Inc. dba Apache Barricade & Sign, the lowest responsive, responsible bidder. In accordance with this award the City Manager or designee is authorized to exercise future options if needed.





Project Name: BARRICADE RENTAL SERVICE

Bid Opening Date: MARCH 7, 2018

Solicitation #: 2018-1095

Department: STREETS & MAINTENANCE

Bid v	Opening Date: MARCH 7, 2018			·			D.		Department	L. OIIV	. TO G III/AII	1211/11/02
	GROUP A. TRAFFIC CONTR	OLBARRI	CADE	CONTRACTOR'S BARRICADE SERVICE, INC. DBA APACHE BARRICADE & SIGN EL PASO, TX								
ITEM NO.		UNIT OF	ANNUAL ESTIMATED QTY. (B)	PRICE PER UNIT (C)	EXTENDED TOTAL AMOUNT (A X B =C)	TOTAL COST (3 YEARS) (C X 3 YEARS)	PRICE PER UNIT (C)	EXTENDED TOTAL AMOUNT (A X B =C)	TOTAL COST (3 YEARS) (C X 3 YEARS)	PRICE PER UNIT (C)	TOTAL AMOUNT (A X B =C)	TOTAL COST (3 YEARS) (C X 3 YEARS)
1.	SIGN STAND - REGULAR	DAILY	100	\$0.60	\$60.00	\$180.00						
2.	SIGN STAND - 4 FOOT X 4 FOOT	DAILY	100	\$0.60	\$60.00	\$180.00				4		
3.	SIGN, LESS THAN 48 INCH REFLECTIVE	DAILY	100	\$0.60	\$60.00	\$180.00						
4.	SIGN, 48 INCH REFLECTIVE	DAILY	100 R1	\$0.60	\$60.00	\$180.00						
5.	PORTABLE LIGHT TOWERS	DAILY	25	\$50.00	\$1,250.00	\$3,750.00						
6.	REFLECTIVE BARREL ENGINEER GRADE	DAILY	1,500	\$0.60	\$900.00	\$2,700.00						
7.	REFLECTIVE BARREL HIGH INTENSITY	DAILY	2,500	\$0.60	\$1,500.00	\$4,500.00						

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: HP
DATE: 3-22-18





Project Name: BARRICADE RENTAL SERVICE

Solicitation #: 2018-1095

Bid Opening Date: MARCH 7, 2018 Department: STREETS & MAINTENANCE

Bla	Opening Date: MARCH 7, 2018		Annual Market and State an	1			i		Department	I. OIIXL	TO G INAIR	LITATION
	GROUP A. TRAFFIC CONTR	OL BARRI	CADE	CONTRACTOR'S BARRICADE SERVICE, INC. DBA APACHE BARRICADE & SIGN EL PASO, TX								
ITEM NO.	DESCRIPTION	UNIT OF MEASURE (A)	ANNUAL	PRICE PER UNIT (C)	EXTENDED TOTAL AMOUNT (A X B =C)	TOTAL COST (3 YEARS) (C X 3 YEARS)	PRICE PER UNIT (C)	EXTENDED TOTAL AMOUNT (A X B =C)	TOTAL COST (3 YEARS) (C X 3 YEARS)	PRICE PER UNIT (C)	EXTENDED TOTAL AMOUNT (A X B =C)	TOTAL COST (3 YEARS) (C X 3 YEARS)
8.	TRUCK MOUNTED ATTENUATORS	DAILY	25	\$250.00	\$6,250.00	\$18,750.00						
9.	28 INCH CONES - 10 POUND	DAILY	1,500	\$0.60	\$900.00	\$2,700.00						
10.	FLAGS	DAILY	1,000	\$0.15	\$150.00	\$450.00						
11.	TYPE III BARRICADE	DAILY	1,500	\$1.25	\$1,875.00	\$5,625.00						
12.	THREE (3) FOOT BARRICADE AND LIGHT	DAILY	50	\$0.60	\$30.00	\$90.00						
13.	TWELVE (12) FOOT BARRICADE AND LIGHT	DAILY	20	\$0.60	\$12.00	\$36.00						
14.	EIGHTEEN (18) FOOT BARRICADE AND LIGHT	DAILY	20	\$0.60	\$12.00	\$36.00						

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: HP-DATE: 3-22-18





Project Name: BARRICADE RENTAL SERVICE

Solicitation #: 2018-1095 **Department: STREETS & MAINTENANCE** Bid Opening Date: MARCH 7, 2018

שוט	Spening Date: MARCH 1, 2010		Company and the both to the second state of th	1			П		Department			
	GROUP A. TRAFFIC CONTR	OL BARRI	CADE	SE APACHI	ACTOR'S BA RVICE, INC. E BARRICAI EL PASO, 1	DBA DE & SIGN						
ITEM NO.	DESCRIPTION	UNIT OF MEASURE (A)	ANNUAL ESTIMATED QTY. (B)	PRICE PER UNIT	EXTENDED TOTAL AMOUNT	TOTAL COST (3 YEARS)	PRICE PER UNIT	EXTENDED TOTAL AMOUNT (A X B = C)	TOTAL COST (3 YEARS) (C X 3	PER UNIT	EXTENDED TOTAL AMOUNT (A X B =C)	TOTAL COST (3 YEARS) (C X 3
		. , ,		(C)	(A X B =C)	(C X 3 YEARS)	(C)	(A X B = C)	YEARS)	(C)	(A X B =C)	YEARS)
15.	VERTICAL PANEL	ĐAILY	20	\$0.60	\$12.00	\$36.00				William to the control of the contro		
16.	SANDBAGS	DAILY	500	\$0.25	\$125.00	\$375.00						
17.	BARRICADE LIGHTS, 6 VOLT (ONLY)	DAILY	50	\$0.25	\$12.50	\$37.50						
18.	SAFETY FENCING (ORANGE PLASTIC MESH 4' X 100' ROLL)	DAILY	50	\$1.00	\$50.00	\$150.00						
19.	SAFETY WATER BARRIER (EMPTY)	DAILY	75	\$2.75	\$206.25	\$618.75				T T T T T T T T T T T T T T T T T T T		,,,,
20.	ARROW BOARD	DAILY	250	\$20.00	\$5,000.00	\$15,000.00				Annual Annua		

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: HP DATE: 3-22-18





Project Name: BARRICADE RENTAL SERVICE

Bid Opening Date: MARCH 7, 2018

Solicitation #: 2018-1095

Department: STREETS & MAINTENANCE

	GROUP A. TRAFFIC CONTE	ROL BARRI	CADE	SE	ACTOR'S BARVICE, INC. E BARRICAI EL PASO, 1	DBA DE & SIGN						
ITEM NO.	DESCRIPTION	UNIT OF MEASURE (A)	ANNUAL ESTIMATED QTY. (B)	PRICE PER UNIT (C)	EXTENDED TOTAL AMOUNT (A X B =C)	TOTAL COST (3 YEARS) (C X 3 YEARS)	PRICE PER UNIT (C)	EXTENDED TOTAL AMOUNT (A X B =C)	TOTAL COST (3 YEARS) (C X 3 YEARS)	PRICE PER UNIT (C)	TOTAL AMOUNT (A X B =C)	TOTAL COST (3 YEARS) (C X 3 YEARS)
21.	MESSAGE BOARD - SMALL	DAILY	250	\$25.00	\$6,250.00	\$18,750.00						
22.	MESSAGE BOARD - LARGE	DAILY	100	\$25.00	\$2,500.00	\$7,500.00						
	GROUP A TO	1-22)		\$382.25	\$27,274.75	\$81,824.25	and the second s	1-91-07-7-7-7-7-7-7-7-7-7-7-7-7-7-7-7-7-7-7				et post, ettimologii se ee gitte tee ee ge

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: HP
DATE: 3-22-18





Project Name: BARRICADE RENTAL SERVICE

Solicitation #: 2018-1095

id Opening Date: MARCH 7, 2018		Department:	STREETS & MAINTENANCE
	CONTRACTOR'S BARRICADE		

GRO	OUP B. THE FOLLOWING EQUIPM OF WAY	ENT IS FO	R STATE RIGHT	SE	ACTOR'S BA RVICE, INC. E BARRICAL EL PASO, T	DBA DE & SIGN						
ITEM NO.	DESCRIPTION	UNIT OF MEASURE (A)	ANNUAL ESTIMATED QTY. (B)	PRICE PER UNIT	EXTENDED TOTAL AMOUNT	TOTAL COST (3 YEARS)	PRICE PER UNIT	EXTENDED TOTAL AMOUNT	TOTAL COST (3 YEARS) (C X 3	PRICE PER UNIT	TOTAL AMOUNT	TOTAL COST (3 YEARS) (C X 3
		(~)	(5)	(C)	(A X B =C)	(C X 3 YEARS)	(C)	(A X B =C)	YEARS)	(C)	(A X B =C)	YEARS)
1.	ONE LANE CLOSURE - REGULAR HOURS	PER HOUR	50	\$10.25	\$512.50	\$1,537.50						
2.	ONE LANE CLOSURE - OVERNIGHT	PER HOUR	50	\$15.60	\$780.00	\$2,340.00					·	
3.	TWO LANE CLOSURE - REGULAR HOURS	PER HOUR	50	\$14.50	\$725.00	\$2,175.00						
4.	TWO LANE CLOSURE - OVERNIGHT	PER HOUR	50	\$21.75	\$1,087.50	\$3,262.50						
5.	THREE LANE CLOSURE - REGULAR HOURS	PER HOUR	50	\$16.60	\$830.00 BIDDER'S PRICE: \$644.00	\$2,490.00 BIDDER'S PRICE: \$1,992.00		-				
6.	THREE LANE CLOSURE - OVERNIGHT	PER HOUR	50	\$24.00	\$1,200.00	\$3,600.00						
7.	FULL CLOSURE - REGULAR HOURS	PER HOUR	50	\$75.00	\$3,750.00	\$11,250.00						

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

DATE:





Project Name: BARRICADE RENTAL SERVICE

Solicitation #: 2018-1095 Department: STREETS & MAINTENANCE Rid Opening Date: MARCH 7, 2018

Big 6	Opening Date: MARCH 7, 2018						0		Department	L. SINEE	I S & WAIN	ILIVANOL
GRO	OUP B. THE FOLLOWING EQUIPM OF WAY	ENT IS FO	R STATE RIGHT	SE APACHE	ACTOR'S BA RVICE, INC. E BARRICAI EL PASO, 1	DBA DE & SIGN						
ITEM NO.		UNIT OF MEASURE (A)	ANNUAL ESTIMATED QTY. (B)	PRICE PER UNIT (C)	EXTENDED TOTAL AMOUNT (A X B =C)	TOTAL COST (3 YEARS) (C X 3 YEARS)	PRICE PER UNIT (C)	EXTENDED TOTAL AMOUNT (A X B =C)	TOTAL COST (3 YEARS) (C X 3 YEARS)	PRICE PER UNIT (C)	EXTENDED TOTAL AMOUNT (A X B =C)	TOTAL COST (3 YEARS) (C X 3 YEARS)
8.	FULL CLOSURE - OVERNIGHT	PER HOUR	50	\$112.50	\$5,625.00	\$16,875.00		·	, =,			,
9.	RAMP CLOSURE - REGULAR HOURS	PER HOUR	25	\$10.25	\$256.25	\$768.75						
10.	RAMP CLOSURE - OVERNIGHT	PER HOUR	20	\$15.60	\$312.00	\$936.00						
11.	STREET CLOSURE - REGULAR HOURS	PER HOUR	20	\$10.25	\$205.00	\$615.00						
12.	STREET CLOSURE OVER NIGHT	PER HOUR	20	\$15.60	\$312.00	\$936.00						
13.	EMERGENCY LANE CLOSURE	PER HOUR	25	\$15.60	\$390.00	\$1,170.00						
14	EMERGENCY STREET CLOSURE	PER HOUR	25	\$15.60	\$390.00	\$1,170.00						

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: JJP DATE:





Project Name: BARRICADE RENTAL SERVICE

Solicitation #: 2018-1095 **Department: STREETS & MAINTENANCE** Bid Opening Date: MARCH 7, 2018

Diu v	Spening Date: MARCH 1, 2010			,					Doparanon	D	TO G MAIN	
GRO	OUP B. THE FOLLOWING EQUIPM OF WAY	ENT IS FO	R STATE RIGHT	SE APACHI	ACTOR'S BARVICE, INC. E BARRICAI EL PASO, 1	DBA DE & SIGN						
ITEM NO.	DESCRIPTION	UNIT OF MEASURE (A)	ANNUAL ESTIMATED QTY. (B)	PRICE PER UNIT (C)	EXTENDED TOTAL AMOUNT (A X B =C)	TOTAL COST (3 YEARS) (C X 3 YEARS)	PRICE PER UNIT (C)	EXTENDED TOTAL AMOUNT (A X B =C)	TOTAL COST (3 YEARS) (C X 3 YEARS)	PRICE PER UNIT (C)	EXTENDED TOTAL AMOUNT (A X B =C)	TOTAL COST (3 YEARS) (C X 3 YEARS)
15.	SET UP CHARGE - SMALL	PER HOUR	20	\$100.00	\$2,000.00	\$6,000.00						
16.	SET UP CHARGE - LARGE	PER HOUR	20	\$145.00	\$2,900.00	\$8,700.00						
17.	SMALL CHANNEL SET UP	PER HOUR	20	\$100.00	\$2,000.00	\$6,000.00						
18.	LARGE CHANNEL SET UP	PER HOUR	20	\$145.00	\$2,900.00	\$8,700.00						
19.	WEEKEND DELIVERY	PER HOUR	20	\$110.00	\$2,200.00	\$6,600.00						
20.	WEEKEND PICK-UP	PER HOUR	20	\$110.00	\$2,200.00	\$6,600.00						

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: DATE:





Project Name: BARRICADE RENTAL SERVICE

Solicitation #: 2018-1095

Bid Opening Date: MARCH 7, 2018 Department: STREETS & MAINTENANCE

GRO	UP B. THE FOLLOWING EQUIPM OF WAY	ENT IS FO	R STATE RIGHT	SE	ACTOR'S BARVICE, INC. E BARRICAI EL PASO, 1	DBA DE & SIGN						
ITEM NO.	DESCRIPTION	UNIT OF MEASURE (A)	ANNUAL ESTIMATED QTY. (B)	PRICE PER UNIT (C)	EXTENDED TOTAL AMOUNT (A X B =C)	TOTAL COST (3 YEARS) (C X 3 YEARS)	PRICE PER UNIT (C)	TOTAL AMOUNT (A X B =C)	TOTAL COST (3 YEARS) (C X 3 YEARS)	PRICE PER UNIT (C)	TOTAL AMOUNT (A X B =C)	TOTAL COST (3 YEARS) (C X 3 YEARS)
21.	DELIVERY - AFTER HOURS	PER HOUR	20	\$110.00	\$2,200.00	\$6,600.00						
22.	PICK-UP AFTER HOURS	PER HOUR	20	\$110.00	\$2,200.00	\$6,600.00						
23.	STAND-BY CHARGE HOUR INCREMENTS	PER HOUR	20	\$55.00	\$1,100.00	\$3,300.00						
Migale-may	GROUP B TOTAL (LINE ITEMS 1-23)				\$36,075.25 BIDDER'S PRICE: \$35,909.25	\$108,225.75 BIDDER'S PRICE: \$107,727.75						

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: HP
DATE: 2-22-18





Solicitation #: 2018-1095

Project Name: BARRICADE RENTAL SERVICE

Department: STREETS & MAINTENANCE Bid Opening Date: MARCH 7, 2018

	OUP C. THE FOLLOWING ITEMS A		HE CITY RIGHT	SE	ACTOR'S BA RVICE, INC. E BARRICAL EL PASO, T	DBA DE & SIGN						
ITEM NO.	DESCRIPTION	UNIT OF MEASURE (A)	ANNUAL ESTIMATED QTY. (B)	PRICE PER UNIT	EXTENDED TOTAL AMOUNT	TOTAL COST (3 YEARS)	PRICE PER UNIT	EXTENDED TOTAL AMOUNT	TOTAL COST (3 YEARS) (C X 3	PER UNIT	EXTENDED TOTAL AMOUNT	TOTAL COST (3 YEARS) (C X 3
		(A)	(6)	(C)	(A X B =C)	(C X 3 YEARS)	(C)	(A X B =C)	YEARS)	(C)	(A X B =C)	YEARS)
1.	ONE LANE CLOSURE - REGULAR HOURS	PER HOUR	200	\$10.25	\$2,050.00	\$6,150.00						
2.	ONE LAND CLOSURE - OVERNIGHT	PER HOUR	100	\$15.60	\$1,560.00	\$4,680.00						
3.	TWO LANE CLOSURE - REGULAR HOURS	PER HOUR	100	\$14.50	\$1,450.00	\$4,350.00						
4.	TWO LANE CLOSURE - OVERNIGHT	PER HOUR	50	\$21.75	\$1,087.50 BIDDER'S PRICE: \$435.00	\$3,262.50 BIDDER'S PRICE: \$1,305.00						
5.	THREE LANE CLOSURE - REGULAR HOURS	PER HOUR	20	\$16.60	\$332.00	\$996.00						
6.	THREE LANE CLOSURE - OVERNIGHT	PER HOUR	20	\$24.00	\$480.00	\$1,440.00						
7.	EMERGENCY LANE CLOSURE	PER HOUR	25	\$15.60	\$390.00	\$1,170.00						

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: 1005 BARRICADE BENTAL SERVICE

DATE:

3-22-18





Project Name: BARRICADE RENTAL SERVICE

Solicitation #: 2018-1095 **Department: STREETS & MAINTENANCE** Bid Opening Date: MARCH 7, 2018

Diu v	ppening Date: MARCH 7, 2018)					11		Department	. OIIVEE	13 & WAIN	1214711402
GR	DUP C. THE FOLLOWING ITEMS A OF WAY	ARE FOR T	HE CITY RIGHT	SE	ACTOR'S BA RVICE, INC. E BARRICAI EL PASO, T	DBA DE & SIGN						
ITEM NO.	DESCRIPTION	UNIT OF MEASURE (A)	ANNUAL ESTIMATED QTY. (B)	PRICE PER UNIT (C)	EXTENDED TOTAL AMOUNT (A X B =C)	TOTAL COST (3 YEARS) (C X 3 YEARS)	PER UNIT	EXTENDED TOTAL AMOUNT (A X B =C)	TOTAL COST (3 YEARS) (C X 3 YEARS)	PRICE PER UNIT (C)	TOTAL AMOUNT (A X B =C)	TOTAL COST (3 YEARS) (C X 3 YEARS)
8.	EMERGENCY STREET CLOSURE	PER HOUR	25	\$15.60	\$390.00	\$1,170.00			,			
9.	SET UP CHARGE - SMALL	PER HOUR	150	\$100.00	\$15,000.00	\$45,000.00						
10.	SET UP CHARGE - LARGE	PER HOUR	150	\$145.00	\$21,750.00	\$65,250.00					West and the second sec	
11.	SMALL CHANNEL SET UP	PER HOUR	150	\$100.00	\$15,000.00	\$45,000.00						
12.	LARGE CHANNEL SET UP	PER HOUR	150	\$145.00	\$21,750.00	\$65,250.00						
13.	WEEKEND DELIVERY	PER HOUR	150	\$110.00	\$16,500.00	\$49,500.00						
14	WEEKEND PICK-UP	PER HOUR	150	\$110.00	\$16,500.00	\$49,500.00						

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

2018-1095 BARRICADE RENTAL SERVICE





Project Name: BARRICADE RENTAL SERVICE

Solicitation #: 2018-1095 Department: STREETS & MAINTENANCE Bid Opening Date: MARCH 7, 2018

GROUP C. THE FOLLOWING ITEMS ARE FOR THE CITY RIGHT OF WAY				CONTRACTOR'S BARRICADE SERVICE, INC. DBA APACHE BARRICADE & SIGN EL PASO, TX								
ITEM NO.	DESCRIPTION	UNIT OF MEASURE (A)	ANNUAL ESTIMATED QTY. (B)	PRICE PER UNIT (C)	EXTENDED TOTAL AMOUNT (A X B =C)	TOTAL COST (3 YEARS) (C X 3 YEARS)	PRICE PER UNIT (C)	TOTAL AMOUNT (A X B =C)	TOTAL COST (3 YEARS) (C X 3 YEARS)	PRICE PER UNIT (C)	EXTENDED TOTAL AMOUNT (A X B =C)	TOTAL COST (3 YEARS) (C X 3 YEARS)
15.	DELIVERY - AFTER HOURS	PER HOUR	100	\$110.00	\$11,000.00	\$33,000.00						
16.	PICK-UP AFTER HOURS	PER HOUR	100	\$110.00	\$11,000.00	\$33,000.00						
17.	STAND-BY CHARGE HOUR INCREMENTS	PER HOUR	50	\$55.00	\$2,750.00	\$8,250.00				And the second s		
GROUP C TOTAL (LINE ITEMS 1-17)					BIDDER'S PRICE: \$138,337.00	\$416,968.50 BIDDER'S PRICE: \$415,011.00						

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: \mathcal{HP} DATE: $3 \sim 20 - 18$





Solicitation #: 2018-1095

Project Name: BARRICADE RENTAL SERVICE

Bid Opening Date: MARCH 7, 2018 Department: STREETS & MAINTENANCE

	Spenning Date. MARCH 1, 2010			к			7		oopa. co	n		
GROUP D. THE FOLLOWING ITEMS ARE FOR SPECIAL EVENTS				CONTRACTOR'S BARRICADE SERVICE, INC. DBA APACHE BARRICADE & SIGN EL PASO, TX								
ITEM NO.	DESCRIPTION	UNIT OF MEASURE (A)	ANNUAL ESTIMATED QTY. (B)	PRICE PER UNIT (C)	EXTENDED TOTAL AMOUNT (A X B = C)	TOTAL COST (3 YEARS)	PRICE PER UNIT (C)	EXTENDED TOTAL AMOUNT (A X B =C)	TOTAL COST (3 YEARS) (C X 3	PRICE PER UNIT (C)	EXTENDED TOTAL AMOUNT (A X B = C)	TOTAL COST (3 YEARS) (C X 3
1.	32" SAFETY WATER BARRIER - FILLED, PLACED, EMPTIED, REMOVED	DAILY	500	\$45.00	\$22,500.00	\$67,500.00			YEARS)			YEARS)
2.	TRUCK MOUNTED ATTENUATOR - MANNED	DAILY	50	\$450.00	\$22,500.00	\$67,500.00	·					
3.	STAND-BY CHARGE IN HOUR INCREMENTS PER MAN	PER HOUR	250	\$55.00	\$13,750.00	\$41,250.00						
GROUP D TOTAL (LINE ITEMS 1-3)			\$550.00	\$58,750.00	\$176,250.00							
GRAND TOTAL (GROUPS A-D)				\$4,173.75 BIDDER'S PRICE: \$3,409.25	BIDDER'S PRICE: \$260,0271.00	\$783,268.50 BIDDER'S PRICE: \$780,813.00				100 A V 45 A		

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: HP.
DATE: 3-22-18

2018-1095 BARRICADE RENTAL SERVICE





Project Name: BARRICADE RENTAL SERVICE	Donortmont	Department: STREETS & MAINTENANCE				
Bid Opening Date: MARCH 7, 2018	CONTRACTOR'S BARRICADE SERVICE, INC. DBA APACHE BARRICADE & SIGN EL PASO, TX	Department	STREETS & MAINTENANCE			
THE CITY AT ITS SOLE DISCRETION, MAY EXERCISE ANY OPTION TO EXTEND THE TERM OF THE AGREEMENT, BY GIVING THE CONTRACTOR WRITTEN NOTICE WITHIN THE TIME PERIOD NOTED ON THE SELECTED OPTIONS. THE TERM OF THIS CONTRACT SHALL BE BASED ON ONE OF THE SELECTIONS BELOW AND UNDER THE TERMS AND CONDITIONS. THE CITY MANAGER OR DESIGNEE MAY EXTEND THE OPTION TO EXTEND. BIDDER OFFERS THE CITY THE OPTION OF EXTENDING THE TERM OF THE CONTRACT FOR:						
TWO (2) ADDITIONAL YEARS AT THE SAME UNIT PRICE(S), IF THE OPTION IS EXERCISED PRIOR TO THE EXPIRATION OF THE ORIGINAL TERM OF THE CONTRACT:	X					
PAYMENT TERMS:	25% - 10 DAYS 15% - 20 DAYS 0% - 30 DAYS 0 NET - 30 DAYS					
BIDDER'S PROMISED DELIVERY: Withinconsecutive calendar days	ONE (1)					
Within hours or overnight after receipt of verbal order in cases of emergency.	ONE (1)		ED DELIVEDY MAY DE CALIES FOD			

LOCAL BIDS SOLICITED: 5 BIDS RECEIVED: BIDS SOLICITED: 8 NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

APPROVED BY: DATE:

LOCAL BIDS RECEIVED:

NO BID: 0

Traffic Control Specialist 3120 Trawood Dr, El Paso, TX 79936 Contractors Barricade Dba Contractor's Barricade Service, Inc 11560 Pellicano, Traffic Barricade Services, Inc. 6621 Doniphan Dr. Ste. M Canutillo, Texas 79835

Return To Sender
Viva Environmental &—
Engineering
7201 Stiles Dr
El Paso, Texas 79915

Return To Sender El Paso Barricade & Supply 105 E. Borderland El Paso, Texas 79932

El Paso, TX 79936

Return To Sender Border States Traffic Supply 1138 Kastrin El Paso, Texas 79907

STPS Inc Attn: Roddy Martin P.O. Box 691015 San Antonio, TX 78269-1015 Centerline Supply Attn: Heather Juarez 530 Jesse St Grand Prairie, TX 75051